02103/01203/P01203

2018 (Even)

Time : 4 Hrs. Sem.- I/I1
BED
Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question

carries 1 mark.

T-A ¥ Tt w9 % I <, yF W H AE 1 3w € |

Answer all four questions from Group B, each question

carries 6 marks.

J9-B | R Yol % ST ¥, ek FIA Hl HH 6 b B |

Answer all Three questions from Group C, each question

carries 12 marks.

9-C ¥ & 99l & ST T, Y I A1 A 12 3k B |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
Tk U9 & Gl 3790 1 I T & e (TR 8 §) B
=fey, T=ren 8 & Sif= S b © |

The figures in right hand margin indicate marks.
T¢ wisd & ek YU & G ¢ |
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1.

GROUPA

Choose the most suitable answer from the following
options :

qaifys STga faweq &t g fafem

(1)

(1)

(ii)

(ii)

As per B.LS the largest size of drawing board
designation is ..............

(a) BO
(b) A0
(c) BI
(d) Al

ORAE AFe G e g gRT dE & gad
TS GRS F ... g frefua fean ST 2

(1) BO
(7)) A0
(9) BI
() Al
In first angle projection ............

(a) Object is kept in 1st quardrant

(b) Object lies between observer & plane of
projection

(c) Front view comes above xy line

(d) All of these

JUH HO 8T F oo

(1) Mg WUH TR H L@l Sl ®

(F) oTesige =z WA fasgy a@ & &=
W@l 2l

(iii)

(iii)

(iv)

02103/01203/P01203

(ﬁ)?ﬁ;’&hxyiwﬁwaﬂmﬁl
(3) =99 § 9t

A radius of 25mm is indicated on the drawing

(a) 25R

(b) R 25

(¢c) R 25 MM

(d) None of these

25 fadE. e &t SET A o g
frefra fean s 21

(31) 25 R

(9) R 25

(¥) R 25 MM

() 3™ 9 &

The length and width ratio of arrow head is
(a 1:3

(b)y 3:1

(c) 2:1

(d) None of these

(w)mrs‘qaaﬁ@rs‘wagmﬁﬁﬁﬁaﬁm

oooooooooooo g'E“
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v)

v)

(vi)

(vi)

(vii)

In orthographic projection these may be ........
(a) front view

(b) top view

(c) side view

(d) all of these

TEHT fadT H o g 2l

(31) Sfgaiw

() sfasiy

(|) "wd g¥

() T 9 =i

Commonly used methods of projections are
.......... projection

(a)  Orthographic

(b) Isometric & oblique
(c) Perspective

(d) All of these

In orthographic projection, projectors are .........
to the plane of projection.

(a) parallel
(b) perpendicular

(Vi)

(vii)

(vii)

(ix)

5 02103/01203/P01203
(c) Inclined
(d) None of these
o= wio fagdy § dagew fagy qd &
........... g 2l
(31) HHMRN
(9) w=ad
() =d
(3) T ¥ &l
Length of a room is 5 metre and it is

represented by 25 mm length on drawing.
Representative fraction (R.F) will be

1 1
@ 10 ®) S0
1
(©) 500 (d) None of these

HI H EE 5 HIE € AN T gET H 25
. o g frefua fver T 81 ST,
.......... B

1 1
(31) 100 (&) 200

1 . .
(9) 300 (7)) = §
Eccentricity of Hyperbola is .............
(a) One

(b) Less than one

(c) More than one

(d) None of these
PTO
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(ix)

(x)

(x)

(xi)

(x1)

G- B T -t | R 2l
(1) Th

() T 9 FA

(9) TF ¥ SE

(3) =79 | wE T

If a cone is cut by a section plane inclined to
the axis of the cone & cutting all the generators,
the conic section is

(a) Circle

(b) Ellipse

(c) Parabola

(d) Hyperbola

TR ¥ &I TH Had ad g1 A9 § Ta
et SR H FReA B A AR FN ... R
(1) I

(a1) i@

(W) =

() a1d=s

Traces of a straight lines are ...........

(a) St line

(b) Point

(c) Curve

(d) None of these

WA @S N TH s g 2

(31) W& @

(@) fag

(xii)

(xii)

(xiii)

(xiii)

7 02103/01203/P01203
(9) a&
(2) = ¥ &
A solid generated by the revolution of a right-

angled triangle about one of its perpendicular
sides which is fixed, is called .............

(a) Cone

(b)  Cylinder

(c) Sphere

(d) Prism.

Th R0 s & = & ReR W
A F e, S wa R

(37)

() e

(§) e

() fo=w

When a solid is cut by a section plane parallel

to its base, the remaining portion obtained after
removing the top portion is called ...........

(a) truncated solid
(b) frustum of a solid
(c) pyramid

(d) none of these

T4 TH 3F H ITH MYR H FAMNR ad
g HE W@ ® dl ST AM H e &
E1ESRL 11 ) R FEd 2|
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(31) T=heE 3™
(9) =g 39
(w) foufae

(7) = 9 &

(xiv) Radial Line Development method is used in the

(a) pyramids
(b) cone
(c) Both (a) & (b)
(d) None of these
(xiv) Sfow Ten fammr fafy ... FH ST
g 2
(e1) foufae
(F) g
(®) (a) T (b) T
() 3™ &
(xv) Isometric view is drawn with .............
(a) Isometric scale
(b)  True scale.
(c) Both (a) & (b)
(d) None of these

() (a) T8 (b) T
(3) =™ 9 ==

9 02103/01203/P01203

(xvi) Faces of pyramids are .............

(a) Rectangles

(b) Circles

(c) Equal isoscales triangles

(d) None of these
(xvi) frafie &1 &9 ... gl 2l

() AFAERR

(d) FarhR

(9) =R gAfgarg 59«

() ™ ¥ &l
(xvii) If a point is in VP & 20 mm above HP then

plan lies .............
(a) 20 mm above xy

(b) Onxy
(c) 20 mm below xy
(d) None of these
(xvi) 3R TH fag S99 # &a @ 20 foat.
SW B @ erafasy ... Bl
(31) xy & 20 fAH. SW
(F) xy™W
() xy % 20 fAH. IW
(7) =99 ® &l
(xviii) If a st.line is parallel to vp & inclined to HP
then its elevation will give ...............
(a) Reduced length
(b) Increased length
PTO
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(c) True length (a1) sfgd
(d) None of these () 31—:[]%[&?1:[
(xvii)) TR el Yen 34 ® WEAER TS &4 9§ (F) (a) W (b) =
gH B A THR AT . ) (3) =9 9 T
(30) Bt e GROUP B
(%) =& Answer all Four Questions. 4%6=24
(9) aTAfors g o VI
(D T ¥ T

2. Draw projection of following points on same xy line.

(xix) No. of generators in a cone is ................ Distance between projectors 20mm. Point A is in HP

(a) Four 40mm infront of vp, Pt B is 40mm above Hp & 30mm

(b)  Six infront of vp. Pt C is 20mm below HP & 30mm behind

(©) Infinity vp Pt D is in vp & 20mm above HP

(d) None of these W™ ¥ xy @ W = fagen w1 fasm @i+

TRl % d w0 20fmE R fag A &

(Xix) TEH H v e # SRR B R 4 34 & 4ofnd. @ 21 fag B &4 & 40

(31) =R A, SR wd 34 & 3ofad @ 2 fag C

@) o g4 & 20fad. 9 w w4 & 30 A @

- : 2 fog Dsa # &a = 20 faHf SW 2

) A

() = ¥ wE Or (78

(xx) Distance of a point from HP appears in Draw a parabola whose base is 70mm and height is

) 55mm.
(a) Elevation ’ i}
(b) Plan SR 70 A wd 55 A 396 w1 W=
T |
(c) Both (a) & (b)
(d) None of these 3. ];)ggw p}rlclljztionslﬁfl a linic)AhB,EOm'm;(;)ng igcgned a;
- . to parallel to vP the line is 30mm infront o
) 45 3 ﬁlﬂ i @ """"" H e E vP. The lower end A is 20mm above HP.

PTO
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80 fA.Hl. o= W& T AB S 3.4 & HHMRR
T TS &4 93009 ¢ & fagy @@= e s
dq. % 30 ot @R ? ud e fau A Q4 9
20 fHH. sW R

Or (372714T)

Point P is 40mm above HP & 30mm infront of vP.
Find its shortest distance.

fag P &d & 4ofndl. SW wd saA & 30fm
o g ? THET gEad 30 W w

Draw the projection of a square lamina of 40mm side
resting on its corner A on HP. when diagonal AC is
inclined at 30° to HP & diagonal BD is perpendicular
to VP

40fH, 91 & TH THR AHA w1 faLy i
I SN FHR AW &9 F ¢ Saf® ®0 AC &,
q W 30°W 99 ¢ TH HU BD 3.9 W = T

Or (37214T)

Draw isometric view of a square prism of 30mm side
& 60mm long axis.

30fa . e wa 60fa . @ e & TR
foon &1 gfdE 3w @9l

Draw projection of a square pyramid of base side
30mm & axis 50mm when it lies on the ground on one
of its triangular faces & axis parallel to VP

13 02103/01203/P01203

30fa . oS wd sofaAl siw & FeR WU A
fagm w9 Safe oI AR w9 | SH A
W USl € WA TEHI e IA. b HHARH

Or (31214T)

. 1
Draw a plain scale of R.F = ﬁto read meters and

long enough to measure up to 40 meters. show 32
meters on it

m.w.%aﬂﬁ——rﬁnm@ﬂ%aﬁmﬁmw

g gl TR 32 WX feem

A square prism of base 30mm & height 60mm rests
on HP on one of its ends with two of its rectangular
faces equally inclined to vp. It is cut by a plane
perpendicular to vP & inclined 60° to HP meeting the
axis at 20mm from top. Draw its elevation & sectional
plan.

 gner foem 30fa @ gon w60 fan &
. W TH THEN © % TUH A AEAER BE 3.
. W T gH € W TH ad Sl 84 WA
Td 449 ° 600 99 7 SW W 37e Wl 20fh
W wEd gl SfgeT ud we efasy wiHl

Or (31214T)

Draw development of the lateral surfaces of a
pentagonal prism of 25mm base edge & 60mm height
resting on ground with one of its base edge parallel to vp
25fam. oo @ e0fAT. SEE w1 vEaw
WHA W TEl ¥ Vel THH! TH YN S
qIAR B sqe fomR @i

PTO
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Answer all Three Questions.

GROUP C

3x12=36

TH N W & S ST |

7.

Write TECHNOLOGY in gothic letter. Take height of
letter 18mm and ratio 6:5 12

Meffr 318X T TECHNOLOGY fa@l s1er &1
O 18faH. T U@ 6:5 o

Or (31214T)

Construct a diagonal scale of R-F and read

4000
enough vp to 600 metre. mark a distance of 487 metres

on it. 12

m.w.ﬁaﬂﬁwﬁﬁnmaﬁvﬁ 600 HeX qF

TE Th| THR 487 X & 30 R

The major axis of an ellipse is 100mm long and foci
are at a distance of 15mm from its ends. Construct
the ellipse & draw tangent and normal at a point on the
curve. 12

w fadga w1 $efers 100faH. ® qen < Wi
R 9 1sfW @ w R ddgm O @ s
Tk fag W e W o et @il

Or (311aT)

The end A of a st. line AB of 80mm length is in HP
and 20mm infront of vp. If the st.line is inclined 45°
with HP & 30° to vP, draw its projections and measure

their inclinations with xy line 12

10.

15 02103/01203/P01203

gofg . o Wl @ AB I BR A &4 ¥ S
d. % 20 W ® SR W tEn &4 @
450Tg 34 W 300°d € af sHe fagw e
T THERT FHEE xy @ W A

Draw projection of a regular hexagon of 30mm side
having one of its sides in HP & inclined at 60° to vP
and its surface makes 450 with H.P 12

30fHAT o1 &% TRYSRR 9 @1 fasm @i et
TH g & § a1 Sad 600 PRl T TH WhE
4. W 4507@ Rl

Or (31e14T)

A hexagonal prism 20mm side of base and 60mm
height is resting on an edge of base on the HP with its
axis inclined at 600 to HP. Draw projections of the
prism. 12

20fH. qon W& 60fH. SEE w1 weys e &
00 M 99 % U9 R TSl T TS SO A&
84 9 600 @ € fism w1 fagw ©iw

A square pyramid of base 30mm and axis S0mm long
has it base on HP & all edges are equally inclined to vP
it is cut by a plane inclined 459 to HP, | to vp &
bisecting the axis. Draw elevation, sectional plan &
trueshape of the section. 12

PTO
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11.

0fH. gon @ sofad. @ s & TR fem
FH YR A4 H 2 T 9t T 34 ¥ SR A4
278 A4 9 450 W ¥ W 3. W = gN
&1 1 THGWN I T e Sl g1 Sfger, we
sHfasy wd ardfas IvE EiH|

Or (31214T1)

Draw parabola with vertex located at 25mm from its
directrix. Draw tangent & normal at any point of the
curve. 12

Ths e fSaer s, few se @ 2sfad
2l T et fog W ooael Y@ w stfwers @S|

A cylinder of 40mm diameter and 75mm height is cut
by a section plane to | vP & inclined 450 to axis and
passes through left end of top face. Draw development
of the truncated cylinder. 12

40fg . =g wd 75t SEE & W W T
Foded W 3A. W wE §, @& ¥ 450 WO
2, ST w9 % ¥ W 9 UW wa € oS
IeM #1 fomr @i

Or (31214T7)

Draw isometric projection of a frustum of a cone of
base diameter S0mm, top diameter 30mm & length of
axis 60mm resting on HP. 12

V| & WERH @ a9 AW 50MmHL, W = 30,
oM we He H orEr cof. B, &4 W wer @
#1 wffda fagy i)

skokook



